Geometry Worksheet
2-7/2-8 Geometry Proofs

Choose reasons from the following list.

Given

Segment Addition Postulate
Def. of Midpoint

Def. of Complementary
Def. of Supplementary
Reflexive Property

Substitution Property
Angle Addition Postulate
Transitive Property
Def. of Right Angle
Substitution (Simplifying)
Vertical Angles Theorem

Name:

Hour:

Subtraction Property
Def. of Angle Bisector
Def. of Congruent
Addition Property
Symmetric Property
Supplement Thm. (Linear Pair is Suppl.)

1. - Given: Kis between Jand L. JK = 6,KL=10

*— = ——
Prove: JL = 16 J K L
Statements Reasons
1. Kis between J and L 1, Giu’m
2. JK=6,KL =10 Civen

3. JL=JK+KL
4. JL=6+10"
5 JL=16
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2. Given: B is the midpoint of AC. BD = AB
Prove: BD = BC
D G
Statements Reasons
1. BD = AB 1._ Cien
2. Bis the midpoint of AC 2. Bivon
3. AB=BC 3. W\ohf\t(-lo«\ ok N\c{m wn &
4 %E BC 4. _Uangtif & ((.,)[)a@ﬂrw
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Given: m £1=75; m 2 = 105 ¥
Prove: ~1and 42 are supplementary 1 >

Statements Reasons S
Lmsl=75 m.2=105 L_ Given
2. msl+m 22275+ 105 2. _<uhabodysion .
3. msLlem 2= 180 3. S’Uh%#ﬁ"f RARTAY (SiMDU p‘f\,; f{_”’\;)
4. Zland 22 are supplementary 4, DQF of S,;ﬁﬁ! L5 |
A

Given: AABC with £C q right angle

ZA and £B are complementary
Prove: m ZA+m /B + m«£C =180

c B
Statements Reasons
1. ZA and /B are complementary L Gven
2. mZA+m £B =90 2. hﬁg 6t ("(wlﬁﬁm edory /7§
3. ZC aright angle 3. C“}h)@f\, ¢ .
4. m<C=90 4. Definf tion  of {‘s‘ﬂ}!f\wé LS
S. msA+m /B+m £C=180 5. _[Rdditien P@"q;&-( %
Given: R, J, and M are collinear - X )
Prove: ?/:\f\ =?5, = R T M
Statements Reasons
L R,J,and M are collinear 1, @e\.ffm/“\
RTI=3,RM=8 '
2. RT +JM = RM 2. Segronk Addition Postyinic
3.3+IM=8 3. Substitidion Poo oo
4. IM=5 4 SUb‘{?ﬂ“c,sz; N P‘TO/\;;,@;{‘H\
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Given: WD bisects 2cWK: WK bisects ZDWM 5 NT’—I*
Prove: ZCWD = ZKWM \
Statements Reasons
1. WD bisects 2CWK 1. _Rivenrs

WK bisects ,DWM
2. ZCWD = /DWK
3. ZDWK = ZKWM
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4. 2cWD = zkwm 4 ey
2
Given: 21 and 22 are right angles 1
Prove: /1= .2
Statements Reasons
L. 21 and 22 are right angles 1. /;\VIT\JJ?«"\/

2. m«£1=90; m~£2=90
3. msLl=m,2
4, £1=,2

2 i)‘&p Mo OF (\\\c:}l’( =/ SS
3. _1 (ancgiéive G s J’(Z)
4. b@ﬁ‘(\i L('o/\ bE’ = L\S

For #8 — 12, rewrite the statements in the correct order and then supply the reasons.

Given: RS=8; RT=34

‘. . *

Prove: ST = 26 R 5 T

Statements Reasons
L AS =% L @Mw\
2. AT= 24 2. Liven -
3RS r5T - AT 3. Sdij\U\'\— Adddton Pog v late-
4. 8 + 4T - 24U 4. Sobsyidute N
.51 = Ale 5. Sob rackton

8+ST=34 S}{26

RS ?Te,w }z=/a B34




10.

Given: ZC and ZB are complementary; m 2C = 50

Prove: m «B = 40

Statements

Reasons

1.4C ang LB oce Comp-; mLe=50
2.MLC+ (B2 q0
3. §0 +lBZ40

4. LR =YD

L

2. Defiatiton oF Comp. &5

Given

3. Sub SitodoNne

4. Spotractton

m £C M 90 B = 40

50+ m #B = 90

4W 50

Given: ZA and ZB are supplementary
ZC and £B are supplementary
Prove: ZA = «C

Statements

Reasons

1 (A 6nd (D ore bvg()ww.,\m%

ZMKA‘(J\LE) (B0 m&L "u’Y\LE)-' (8o
3.nLATm S S UTAGE VA ;Y
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LR and LC afe 5 p(\(gmm—‘utzr ;
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3. TConsi M-
4 Sovote GLATOY ™

5. Qefintlion ¢ = LS

M ZA+m 2B £C+m £B

A

£C

mZA=m «£C

M ZA T ZB=1805m £LC+ m /B = 180

ZA £B aresupplementary
ZCand £ supplementary
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12.

Given: ZMPR is a right angle

Prove: ZMPK and ZKPR are complementary

Statements Reasons
1 LMPR s a gt £ L Qiven
2. LoWR = Qo 2 Refinidon of fighk L5

3./ NP ¢ KPR /el
4. MPLm W FR= qo
5 LMFK LL(\(&LKF(‘L e CCMC‘QNJM

3. fngle sddbHON Postolatt
4. SupsHH T
\ < A/ .) L(’_ ’Vui,ﬁ/h’%'("( \
\\ ,k\‘(fi\o\/\ o CD: \—( N A
2 5, D@ n /3

m 4M5r(= 90 m ZMPK + m ZKPR = 90 ZMPR i3 right angle

4MPK'Bhd7@R are complementary

m ZMPK +m ZKPR = m ZMPR

6
. .
Given: ZGBW is a right angle; m ~/GBT = 35
Prove: m £TBW = 55
-
W B
Statements Reasons

1. LG%L\B YN “\%VU” e L @i‘vw/\
2. mLGBT = 3§ 2. (Lwene

3.mLGRW 2 Qo
4 GBT + nlTBW > MG
5. NSt (THW = Qo

3. Definition o€ Mgk L5
4. Pf(\c]LQ Oddbton Pe s\wlavle
5. Subohidu He

6. NLTBW=64 6. SubHcacton

ZGBW iswright angle m 4G§§l;¢/rn ZTBW = m £GBW
Z =35 / = 55

m Z68T = m g%ﬂ

m AGBW<9O 35+ m LTBW = 90




